Update on QA procedure

and use of CgemLineFit in it

Lia Lavezzi

2020-10-29
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Fixed CgemCosmicRayQA

e usage of alignment functions
e computation of intersections of the fit track to the planes
e computaion of residual distros
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REALITY

* The dotted line is the real cosmic
ray

* The blue stars are the positions
where the cosmic ray Is detected
on the layers as positioned in the
real setup

EXPERIMENTAL POINTS
before alignment
* The red stars are the measurements
on the layers, they are not aligned
since the position of the layers is not
corrected

* These are the points without
alignment
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GLOBAL (aligned)
reference frame

 Track from fit

* |ntersections of the fitted track on the
layers, coordinates X,y,z

* Point Of Closest Approach (POCA) of
the fitted track to (0,0,0)

-
~ P
Seo | -

- ' -

-

LOCAL (not-alighed)
reference frame

Experimental hits

Reco clusters 1D

Reco clusters 2D

Intersections of the fitted track on the
layers, coordinates f, v
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GLOBAL (aligned)
reference frame
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reference frame



GLOBAL (aligned) LOCAL (not-aligned)
reference frame reference frame

CgemGeoAl

MY PREVIOUS VERSION WAS WRONG

* | was computing the residuals all in the GLOBAL frame

* porting there the experimental positions with point_invTransform

* BUT | was finding the intersections of the fitted line to non aligned layers (LOCAL) with my
own code -~ WRONG

NEW VERSION IS FIXED
* | compute the residuals in the LOCAL frame
* | compute the intersections in the GLOBAL aligned frame with the dedicated function

(align_flag== ) gotit = midplane->getPointAligned(layerid, linefit, posup, posdown, phivup, phivdown);
gotit = midplane->getPointIdealGeom(layerid, linefit, posup, posdown, phivup, phivdown);

* Use ¢ and v from the LOCAL frame
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residual r*phi - L1 bottom

PREVIOUS VERSION
(WRONG)
test plane: residual in R * phi (mm)
Entries 70416
=il Loopall L
B Underflow 726
10000 Fit with Overflow 789
YV - ntegra 6.89e+04
8000— W* option Constant  1.034e+04
B Mean 0.1001
B Sigma 0.4639
6000 |—
4{)00:—
s 726 underflow 789 overflow
D_Illlllllll_l_l J—IlLJ.llllllll

-10 -8 -G —4 -2 0 2 4 G 8 10

NEW VERSION
(FIXED)
test plane: residual in R * phi (mm)
Entries 70454
£ M 0.1047
L Loop all St:a;e 1.131
- W 3
L i i Underflow 730
10008 B Fit with Overflow 790
(11 73 5
a000 - W?” option Constant  1.035¢+04 + 0.6
B Mean 0.1075 + 0.0000
- Sigma 0.4635 + 0.0000
6000 —
4000 —
~ 730 underflow 790 overflow
2000 —
[]_ILIII ||||| |J- ||I_I_LJI_IJ.
G B B oA D 0 2 4 6 8 10

There is no actual difference in the results
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residual z - L1 bottom

9000

8000

7000

6000

5000

4000

3000

2000

1000

PREVIOUS VERSION

(WRONG)

test plane: residual in z (mm)

- Entries 70416
5 Loop all Mean 0.1906
f— . ) Std Dev 1.324
: “V\II:’!tOWItti?)n Underflow 1093
e P Overflow 897
= Constant 8592
E_ Mean 0.1848
= Sigma 0.5499
- 1093 underflow 897 overflow

E| ca g doaa R BT I

0 -8 B -4 =2 0 2 4 6 8 10

8000

8000

7000

6000

5000

4000

3000

2000

1000

k=1

NEW VERSION
(FIXED)
test plane: residual in z (mm)

Entries 70454
el Mean 0.1873
- Loop all Std Dev 1.324
= Underflow 1087
= Fit with Overflow 900
5_“W" obtion Constant 8599 £ 0.6
- P Mean 0.1809 + 0.0000
= Sigma  0.5494 + 0.0000
- 1087 underflow 900 overflow
B e ot
0 8 6 4 =2 0 2 4 5 8 10

There is no actual difference in the results
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Test 1 - use Loop All

Use it on every test plane

Tested alignment of residual distros
Tested chi2 cut

Tested cut on cluster charge
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Loop All on all planes

* Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm)
layerl 0.0889837 0.0000000
layer2 0.0000000 -0.0000000
layer3 0.0000000 0.0000000

* LoopAll algorithm
* Test all the layers, one by one
e L1 TOP and L2 BOTTOM have problems

L1 BOTTOM
n FITTED track 120502
n VALID track (after cuts) 75089
efficiency 0.8520955133
background component 0.0238117434

L2 BOTTOM
n FITTED track 6402

n VALID track (after cuts) 3581

efficiency 0.8553476682
background component  0.01396258028

DeltaZ(mm) RX({rad) RY(rad) RZ(rad)
1.8009692 0.0000000 0.0000000 -0.0092171
-0.0000000 0.0000000 0.0000000 0.0000000
0.0000000 0.0000000 0.0000000 0.0000000

L1 TOP
n FITTED track

n VALID track (after cuts)

efficiency
background component

L2 TOP
n FITTED track
n VALID track (after cuts)
efficiency
background component

126655
81455
0.8554907618
0.01419188509
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Elements DeltaxX(mm)
layerl 0.0889837
layer2 0.0000000
layer3 0.0000000

LoopAll algorithm
Test all the layers, one by one
L1 TOP and L2 BOTTOM have problems: the LoopAll fit does not work fine here!

DeltaY (mm)
0.0000000
-0.0000000
0.0000000

v2 DISTRIBUTIONS

" 200 250 300

Overflow

~ Entries 126655
- Mean 347
— L1 BOT Std Dev 68.6
1_ Underflow 0
Overflow 4422

{II ‘.JEIZ:{I‘”I25|€IIIII IHISEIOIH:!DlG”” IIIg’r»i?lf.‘l
— — Entries 6402
- Mean 46.43
L2 BOT |stdDev 82.41
Underflow 0

305

The number of entries is low

350 400

DeltaZ(mm)
1.8009692
-0.0000000
0.0000000

RX({rad)
0.0000000
0.0000000
0.0000000

Loop All on all planes

Alignment on, parameters are:

RY(rad)
0.0000000
0.0000000
0.0000000

0.8

0.6

0.4

02

L1 TOP

Entries
Mean
Std Dev
Underflow
Overflow

The number of entries is just 1

150

200 250 300

350 400

12000

10000

L2 TOP

PRI PR

Entries
Mean
Std Dev
Underflow
Overflow

150 200

250 300

350 400

-0.0092171
0.0000000
0.0000000

—

o O O o




The residual distributions

Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm) DeltaZ(mm) RX({rad) RY(rad) RZ(rad)
layerl 0.0889837 0.0000000 1.8009692 0.0000000 0.0000000 -0.0092171
layer2 0.0000000 -0.0000000 -0.0000000 0.0000000 0.0000000 0.0000000
layer3 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000

LoopAll algorithm
Test all the layers, one by one

e Chi2 cut=20
B Entries 70454
F Mean 0.1043
B Std Dev  0.8574
_— L1BOT Constant 5219 L1 TOP
- Mean 0.1077

2p00

100D

0, L

o
/a
da
'I\J -
L
=
™
w
Y
o

test plane: residual m R * phi (mm) test plane: residual :n R * phi (mm)
240 : Entries 3487 - Entries 77094
Mean  0.0003256 L2 TOP : Mean  -0.2398
Std Dev 1.236 4000 Std Dev 1.1
Constant 179.4 mlsallg ned Constant 4404
Mean -0.04982 Mean -0.2754
Sigma 0.6203 2000 Sigma 0.5729

R * ¢ RESIDUAL DISTRO

1000

I"'IIII|IIII|III
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chi2 CUT scan

* Alignment on, parameters are:

Elements DeltaxX(mm)
layerl 0.0889837
layer2 0.0000000
layer3 0.0000000

* LoopAll algorithm
* Run a chi2 scan for L1 BOT

Chi2 scanned in the values
[1,2,3,5,10,20,50,100]

There is not a real and relevant
difference

DeltaY (mm)
0.0000000
-0.0000000
0.0000000

efficiency

7

DeltaZ(mm)
1.8009692
-0.0000000
0.0000000

RX({rad)
0.0000000
0.0000000
0.0000000

RY(rad)
0.0000000
0.0000000
0.0000000

RZ(rad)
-0.0092171
0.0000000
0.0000000

0.9

0.89

0.88

0.87

0.86

0.85

0.84

0.83

0.82

0.81

T

no cluster E cut
T

-_--__'-'-'—-—-.

o
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cluster energy

* Alignment on, parameters are:

Elements DeltaxX(mm)
layerl 0.0889837
layer2 0.0000000
layer3 0.0000000

* LoopAll algorithm
* See the energy distribution of the clusters used for fitting

clusterid charge (fC) in L1, 51, x view (only clusters in the fit)

DeltaY (mm)
0.0000000
-0.0000000
0.0000000

08

06

0.4

02

Entries
Mean
Std Dev

TEST PLANE: L1 BOT, x view

=1

clusterid charge (IC) in L1, 51, v viaw (only clusters in the fit)

=m0

08

06

04

02

Entries
Mean
Std Dev

(=]

TEST PLANE: L1 BOT,v view

=]

L PR S T P S T | I S T T PR S
50 100 150 200

50

DeltaZ(mm) RX(rad) RY(rad) RZ(rad)
1.8009692 0.0000000 0.0000000 -0.0092171
-0.0000000 0.0000000 0.0000000 0.0000000
0.0000000 0.0000000 0.0000000 0.0000000
clusterid charge (IC)inL1, 52, x view (only clusters in the fit)
- Entries 75089
1000— Mean 59.39
C Std Dev 38.95
8001 —
so0f— L1 TOP, x view
asol-
200
Oy 50 00 150 200 250
cluster1d charge (IC) in L1, 52, v viaw (only clusters in the fit)
= Entries 75089
1200—
C Mean 51.71
e StdDev  33.23
800 :—
o L1 TOP, v view
400 -
200

50 100 150 BT

“zE0



cluster energy

Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm)
layerl 0.0889837 0.0000000
layer2 0.0000000 -0.0000000
layer3 0.0000000 0.0000000

LoopAll algorithm

See the energy distribution of the clusters used for fitting

clusterid charge (fC) in L2, S1, = view (only clusters in the fit)

E Entries 75089
e Mean 72.07
oo StdDev 4272
500 —
a0 L2 BOT, x view
300
200
100

OCI — 50 — IDID — 150 — 200 I 250
cluster1d charge (fC) in L2, S1. v view (only clusters in the fit)

c Entries 75089
1400 -

C Mean 39.03
1200

H Std Dev 31.01

1000

a L2 BOT, v view

600 [T

8OO

an0 [F

200 [—

il a0 100 150 200

250

DeltaZ(mm) RX(rad) RY(rad) RZ(rad)
1.8009692 0.0000000 0.0000000 -0.0092171
-0.0000000 0.0000000 0.0000000 0.0000000
0.0000000 0.0000000 0.0000000 0.0000000
clusterid charge (fC) in L2, S2, x view (only clusters in the fit)
E Entries 75089
800 —
= Mean 64.86
00—
600 E_ Std Dev 39.33
E, L2 TOP, x view
A00 -
200
0 P RS H U S SR SRSl - . o S0 T e
o 50 100 150 200 250
cluster1d charge (fC) in L2, 52, v view (only clusters in the fit)
1800~ Entries 75089
1eao Mean 3457
e StdDev  27.52
1200
1000 L2 TOP, v view
#00
600
ADD

I25() 24



cluster energy

e Cuts used in my old standalone were:

L1, x view, Qg cren = 2011C
L2, x view,

L1 TOP

clusterid charge (fC) in L1, 52, x view (only clusters in the fit)

CLUSTER

C Entries 7508¢
1000— Mean 59.3¢

. Std Dev 38.9¢
800[—
soof— L1 TOP, x view
400
200

% 50 00 150 i 250
clusterid charge (fC) in L1, 52, v view (only clusters in the fit)

F Entries 7508¢
1200—

C Mean 51.7
'm:_ Std Dev 33.2
aon:—
a0l L1 TOP, v view
ano[H
200

% B T T E— N 750

>15fC

L2 BOT

clusterid charge (fC) in L2, 51, x view (only clusters in the fit)

Entries 75089
0 Mean 72.07
em Std Dev 42.72
500
400 L2 BOT, x view
300
200
100
00 50 100 150 200 250
clusterid charge (fC) in L2, 51, v view (only clusters in the fit)
F: Entries 75089
1400_ i
Mean 39.03
1200
Std Dev 31.01
1000
a0 L2 BOT, v view
600 [}
400 i
200
OO:IIISDIIII1E:OIII150 20'0I I250

L1, vview, Qg yerer = 101C
12, vview, Qn ey = 101C

L2 TOP

clusterid charge (fC) in L2, 52, x view (only clusters in the fit)

E Entries 75089
800
= Mean 64.86
700 ==
E Std Dev 39.33
600 —
e L2 TOP, x view
400
300 =
200
100
0 1 1 1 il U Y e
0 50 100 150 200 250
cluster1d charge (fC) in L2, 82, v view (only clusters in the fit)
1800 Entries 75089
1600 Mean 3457
1400
Std Dev 27.52
1200
1000 L2 TOP, v view
B0
600
400
200
. M Bt A A T .
0 50 100 150 200 250
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chi2 CUT scan

* Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm) DeltaZ(mm) RX({rad) RY(rad) RZ(rad)
layerl 0.0889837 0.0000000 1.8009692 0.0000000 0.0000000 -0.0092171
layer2 0.0000000 -0.0000000 -0.0000000 0.0000000 0.0000000 0.0000000
layer3 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000

* LoopAll algorithm
* Run a chi2 scan for L1 BOT 0.9

0.89

0.88

efficiency

N

087 ster E cut

Chi2 scanned in the values I

[1,2,3,5,10,20,50,100] no cluster E cut

o !
: u h__‘__‘_‘-‘"‘"—i
There is not a real and relevant —
difference -
Also by cutting away the events -
0.82—
where one of the tracker cluster n
does not pass the energy cut there 0.81
IS no change by chi2 cut =
DED | | IED | | Idnl | IE{}I | IE{} | | I-H:"jl



Test 2 - use Loop All + Max Q

e Use it on every test plane
* Tested alignment of residual distros
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Test 2 — Loop All + Max Charge

Elements

Alignment on, parameters are:
DeltaX(mm)

DeltaY(mm) DeltaZ(mm) RX(rad) RY(rad) RZ(rad)
layerl 0.0889837 0.0000000 1.8009692 0.0000000 0.0000000 -0.0092171
layer2 0.0000000 -0.0000000 -0.0000000 0.0000000 0.0000000 0.0000000
layer3 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000
* LoopAll + MaxCharge algorithm
* Test all the layers, one by one
* LoopAll+MaxChage has a fitting procedure which is fine for all the planes
L1 BOTTOM L1 TOP
n FITTED track 153160 n FITTED track 151818
n VALID track (after cuts) 86453 n VALID track (after cuts) 86609
efficiency 0.8354018947 efficiency 0.8479026429

background component 0.02558615664

background component  0.02145273586

L2 BOTTOM
n FITTED track

n VALID track (after cuts)
efficiency

150586
86040

0.8389702464

background component 0.01813110181

L2 TOP
n FITTED track
n VALID track (after cuts)
efficiency
background component

153433

88779
0.8349834983
0.01954290992
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Loop All on all planes

* Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm)
layerl 0.0889837 0.0000000
layer2 0.0000000 -0.0000000
layer3 0.0000000 0.0000000

* LoopAll + MaxCharge algorithm
* Test all the layers, one by one

fitted track chi2

9000 Entries 153160
oon Mean 3427
7000 L1 BOT Std Dev 52.61
G000
5000 ;

m 4000 f

Z 3000 g—

9 2000 i—

F 1000 —

a G{I: I 50 I 100 *-15'0 2DICI 25|0 _._3{]0

E fitted track chi2

I_ 9000 = Entries 150586
AR Mean 33.97

g 7000 L2 BOT Std Dev 52.78
6000 =

N 5000 i

x 4D0D ;
A000 f—
2000 %—
1000 ?—
ﬂﬂ_ I 50 I 100 15:0 2D|0 25|0 300

DeltaZ(mm) RX(rad) RY({rad) RZ(rad)
1.8009692 0.0000000 0.0000000 -0.0092171
-0.0000000 0.0000000 0.0000000 0.0000000
0.0000000 0.0000006 0.0000000 0.0000000
fitted track chi2
E Entries 151818
12000 |— Mean 33.83
o000 - L1 TOP StdDev  53.46
apdo L
G000
ﬂ{l ! 50 — IDICI 15I"J EDICI 25L0 — I:]{I(J
fitted track chi2
C Entries 153433
R Mean 33.21
- L2 TOP
10000 f— Std Dev 53.31

8000

G000

4000

2000

(=)

50

100 150
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Test 2 — Loop All + Max Charge

Elements
layerl
layer2
layer3

Alignment on, parameters are:

DeltaX(mm)
0.0889837
0.0000000
0.0000000

DeltaY (mm)
0.0000000
-0.0000000
0.0000000

LoopAll + MaxCharge algorithm
Test all the layers, one by one
LoopAll+MaxChage: what about the misalignment?

test plane: residual En R * phi (mm)

G000

3000

2000

g
=]

=

R * ¢ RESIDUAL DISTRO

Entries 81459

L1 BOT Mean 0.6308

Std Dev 1.04

misalignhed Constant 5309

- Mean 0.7398

3 Sigma  0.4947
5_ -3 -2 -1 1 I2 4 5

test plane: residual sn R * phi (mm)

! Entries 82839

Mean -0.02937

Std Dev 1.236

Constant 4234

Mean -0.06638

Sigma 0.6277

DeltaZ(mm)
1.8009692
-0.0000000
0.0000000

test plane: residual in R * phi (mm

RX({rad)
0.0000000
0.0000000
0.0000000

RY(rad)
0.0000000
0.0000000
0.0000000

RZ(rad)
-0.0092171
0.0000000
0.0000000

misalighed

0

anoo

2000

1000

Entries
Mean
Std Dev
Constant
Mean

Sigma

82278
0.9347
0.9964

5776
1.058
0.4554

o RN RERRNRRRRNRRRN

=

test plane: residual §1 R * phi (mm

5000

=
0
D
6.
>
®
o

2000

1000

L2 TOP

Entries 84165
Mean -0.231
Std Dev 1.188
Constant 4559
Mean -0.2754
Sigma 0.5872

o
IS
bp
b
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Test 3 — use the 4 layers all at once
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Number of fitted tracks

* Alignment on, parameters are:

Elements DeltaX(mm) DeltaY (mm) DeltaZ(mm) RX({rad) RY(rad) RZ(rad)
layerl 0.0889837 0.0000000 1.8009692 0.0000000 0.0000000 -0.0092171
layer2 0.0000000 -0.0000000 -0.0000000 0.0000000 0.0000000 0.0000000
layer3 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000 0.0000000

LoopAll LoopAll + MaxQ

n FITTED track 89401 n FITTED track 132806

n not passing E cut 15052 n not passing E cut 17535

n VALID track (after cuts) 20737 n VALID track (after cuts) 23822

fitted track chi2 fitted track chi2

2400 r Entries 89401 - Entries 132806
2200 | Mean 47.5 2500 Mean 58.48
2000 Std Dewv 57.79 Std Dev 64.78

1800 H

2000 {
1600 H- I
1400 - 1500 |-
1200 [
1000 —

1000
800 B

600

400 500

200

111 1 | 1 111 | 11 L1 0 11 1 1 | 1 11 1 | 11 11 | 11 11 11 1 1
50 100 150 200 250 300 o] 50 100 150 200 250 300

o

e I|I‘|I|||\||||I‘




* Alignment on
* Chi2 cut =20
* Energy cut on clusters

residual in R * phi {mm) on L1, S1

]
s
(=]

_
.
g

g

L1 BOT

Entries 20737
Mean 0.726
Std Dev  0.1806
Constant 4440
Mean 0.7414
Sigma 0.1873

”‘_IlII|II|I||I|I||II||||I||I|II|II|I||I|I||II|||

=l

'Ll_
o

residual in R * phi (mm) on L2, S1

g
=1

L2 BOT

[

m_II|I|||II||I|I|IIII|IIII|I

=

Entries 20737

Mean -0.00232

Std Dev 0.1494

Constant 5346

Mean 0.004272

Sigma 0.1554
:II e I-il I 5

5000

4000

3000

2000

g
=

“‘_IIII|IIII|IIII|IIII|IIII|

6000

5000

4000

3000

2000

2
(=]

""_IIII|IIII|IIII|II|||III||||||||

=]

R * phi - LoopAll

residual in R * phi (mm) on L1, S2

L1 TOP

20737
0.8999
0.1754

4687
0.9206
0.1751

=

L_
R

residual in R * phi (mm) on L2, S2

L2 TOP

20737

-0.1213

0.1458
5873

-0.1453

0.1382




* Alignment on
* Chi2 cut =20

* Energy cut on clusters

¥_0_down - x_0_down_f {chisq_3<20}

E | Entries 35789
4onn§— Mean 1.6
PUElI stdDev 0.3071
W95 Constant 4254
2500 — Mean 1.601
2000 — Sigma 0.3472
154:::13—
mnnf—
5503—
o B 1
¥_1_down - x_1_down_f {chisq_3<20}
B Entries 35789
12000 —
= L2 BOT I Mean 0.0004255
10000 [— Std Dev 0.09929
Bm:_ Constant 1.336e+04
- Mean -0.002056
e Sigma 0.108
1'-|'.'N]l'.‘l:—
ED[II'.'I:— -} \-
e A

X 0 down-x 0 down f

4000

3500

3000

5]
Z
=

2000

s 8§ §

=

12000

2
g

BDOD

G000

4000

2000

=

¥ 0 up-x_0_up_f {chisq_3<20}

= Entries 35789
3 Mean ~1.591
S Std Dev  0.3271
§_ Constant 4038
g_ Mean -1.578
§_ Sigma 0.3639
5 i s e 3 E
¥x_1_up-x_1_up_f {chisg_3<20}

_ Entries 35789
:_ L2 TOP F Mean 0.01927
- Std Dev 0.09936
Z_ Constant  1.345e+04
:_ Mean 0.02236
:_ Sigma 0.107
. l" Py
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* Alignment on
* Chi2 cut =20
* Energy cut on clusters

residual in 2 (mm) on L1, 51

Z - LoopAll

- Entries 20737
wo— L1 BOT Mean 0.1123
- Std Dev 0.2653
= Constant 3160
2000 - Mean 0.1374
5 Sigma 0.2589
1500 —
IMCIE—
5503—
e s
residual in z (mm) on L2, S1
B Entries 20737
" L2 BOT Mean -0.03007
- Std Dev 0.3653
2000 —
B Constant 2383
C Mean -0.03428
e Sigma 0.3388
lbm'_‘l:—
EDDj—
e iy

3000

2500

2000

1500

2
(=]

=

=

2500

2000

g
(=]

2
=

2

=]

residual in z {(mm) on L1, 52
- Entries 20737
- L1 TOP Mean -0.01835
3 Std Dev 0.263
— Constant 3233
B Mean -0.004988
- Sigma 0.2509
:. | i | | i | L
5 — -3 -2 2 3 4 5
residual in 2 (mm) on L2, S2
r Entries 20737
- L2 TOP Mean 0.3098
: Std Dev  0.3605
— Constant 2582
C Mean 0.3707
= Sigma  0.3057
:. | il | | i | L
5 —4 -3 -2 2 3 4 5
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R * phi - LoopAll+MaxQ

* Alignment on
* Chi2 cut =20
* Energy cut on clusters

residual in R * phi (mm) on L1, S1 residual in R * phi {mm) on L1, S2
- Entries 23822 F Entries 23822
-L1 BOT e 0.7213 . L1 TOP Mean  0.8986
4000 — Std Dev 0.1831 - Std Dev  0.1779
= Constant 5033 s Constant 5311
3000 [~ Mean 0.7374 ook Mean  0.9188
- Sigma 0.19 - Sigma 0.1776
EMD_— sz_‘l_—
'f"ﬂﬂ:— mnof—
D:' ] ' | ] | PP | ﬂ:. | | | ' i | | | |
-5 —4 -3 -2 -1 2 3 4 5 -5 —4 -3 -2 -1 1] i 2 3 4 5
residual in R * phi (mm) on L2, S1 residual in R * phi (mm) on L2, S2
a0 = Entries 23822 7000 — Entries 23822
- L2 BOT H Mean -0.001913 Emf_ L2 TOP Mg _0.1164
i = Std Dev 0.151 = StdDev  0.1493
- Constant 6075 e Constant 6603
E Mﬂan 0.003402 4000:_ MEE.H —C'.142
3000 — Sigma 0.157 C .
c 3000 Sigma 0.141
2000 — &
= 2000 [—
1000 |— j mnﬂf—
e e e R e R b e e B Tty o ne s s 36




Z - LoopAll+MaxQ

* Alignment on
* Chi2 cut =20
* Energy cut on clusters

residual in z (mm) on L1, S1

residual in z (mm) on L1, S2

= Entries 23822 = Entries 23g22
35'00:—L1 BOT Mean 0.1078 3500 L1 TOP Mean -0.01888
a0 Std Dev  0.2697 = Std Dev 0.2677
g Constant 3568 = Constant 3638
N Mean 0.1335 e Mean 0.005938
o Sigma 1. 2834 2000 — Sigma 0.2565
1500 — wnn::-f—
mmf— mmf—
5'503— 5002—
e a A ) e aa i
residual in z (mm) on L2, 51 residual in z (mm) on L2, 52
- Entries 23822 = Entries 23822
o L2 BOT Mean — -0.02955 “g L2 TOP M 0.2979
- Std Dev 0.3713 5 ean :
X 2500 —
el Constant 2684 B Std Dev  0.3704
- Mean -0.03455 2000 — Constant 2891
~ Sigma 0.3458 B
500 —
e 1500 Mean 0.364
1000 o Sigma 0.3132
= 'IDI:IEI_—
500:_ ED{I:—
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Conclusions

* uploaded the CgemLineFit-00-00-15 rev. with the fix in CgemCosmicRayQA
* Problem in LoopAll algorithm

* Alignment not taken into consideration properly?

* Can someone independently check the residuals so that we are sure
everything is fine please?

38



	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38

